
https://www.pass4itsure.com/sk0-003.html
2024 Latest pass4itsure SK0-003 PDF and VCE dumps Download

 

 

 

SK0-003Q&As

CompTIA Server+ Certification Exam

Pass CompTIA SK0-003 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/sk0-003.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by CompTIA
Official Exam Center

 

 

Latest SK0-003 Dumps | SK0-003 PDF Dumps | SK0-003 Practice Test                                1 / 3

https://www.pass4itsure.com/sk0-003.html
https://www.pass4itsure.com/sk0-003.html
https://www.pass4itsure.com/sk0-003.html


https://www.pass4itsure.com/sk0-003.html
2024 Latest pass4itsure SK0-003 PDF and VCE dumps Download

QUESTION 1

A server has lost communication to its drives located on a fiber channel SAN. An administrator notices that the indicator
lights on both the HBA and the SAN switch are not lit. Which of the following are the MOST likely causes of the
problem? (Select THREE). 

A. Failed HBA 

B. Failed switch port 

C. Faulty fiber cable 

D. Faulty driver 

E. Failed hard drives 

F. Faulty configuration 

Correct Answer: ABC 

 

QUESTION 2

Which of the following is the FIRST step when troubleshooting an issue? 

A. Identify the problem. 

B. Verify full system functionality. 

C. Document all findings. 

D. Establish a theory of probable cause. 

Correct Answer: A 

 

QUESTION 3

An administrator is required to maintain maximum redundancy for 1TB of accounting files. Which of the following is the
BEST option available to the administrator? 

A. Create a RAID 5 array using eight 300GB disks. 

B. Create a RAID 10 array using six 300GB disks. 

C. Create a RAID 5 array using ten 300GB disks. 

D. Create a RAID 10 array using eight 300GB disks. 

Correct Answer: D 
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QUESTION 4

An administrator has a rack server that is 1.75 inches (4.4 cm) tall. Which of the following is the correct U size for this
server? 

A. One 

B. Two 

C. Three 

D. Five 

Correct Answer: A 

 

QUESTION 5

Which of the following virtualization technologies can save time during provisioning? 

A. Cloning 

B. Snapshots 

C. Clustering 

D. Virtual memory 

Correct Answer: A 
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